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Review from Algebra II: I
d the inverse, f ' (x), algebraically rs‘epﬁi l

S(x)=2x+2. 1w — | 1. (A fo)_tD_%_
~ L x—\ jiﬁbﬁi :
(ﬁ 2-}(-\-2 5 2 9 1 ¢ .
i P

S}fm?ﬂlzhﬂl over the line _IA =X . I

{ This means if f(x)contEM(a,b)mmf"(X) will contain (A ) .
nfim'mvfw .

Demonstrate this property for f(x) and f(x).
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More on graphs of inverses: - .’tl--)i"" M Tﬁr

Sketch the graph of the inverse and determine if the inverse is a function.
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to determine if the relation is a function and the
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| _Definition: A function is (UL “'U aNL _lAj_lMSCJS also a function. This means that each
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¥gsBngfor One-to-One Functions:

l. f(x)=3x+6 2. f(x)=x—-1 3, f(x)=x*+1

Sketch f(x)=3x+6. Label the Sketch f(x) =+/x —1. Label the Sketch f(x)=x"+1.Givean exa.mple.
x - and y~intercepts. Use the intercepts ~ * - and y-intercepts. Use the intercepts Where f(x)does not pass the HLT.

to sketch. /™' (x). Use color. to sketch ' (x). Use color.

Use the Property of Inverses to show that fand g are inverses: f(x)= = and g(x) e S‘x
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In conclusion, if a function does not pass the l([ O~ |h / test, we know it is not OYLL,-:.@ o m AV
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Remember a function and its inverse have a special relationship:
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Examples. I

1. Find f(x)and g(x) so that the function can be described as y = f{g(x)). y—( T2y
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1 3. Given the graph of f (x) , sketch its inverse. Use color and label key points.
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‘ If a function is one-to-one then it must pass the




